1 wu- Raw-ll wad -

(A) 30 3 (B) 20 3
JO) 103 (D) 40 Al
Thickness of partition wall is -
(A) 30 cm (B) 20 cm
(C) 10cm (D) 40 cm
2wl oW Gudlat s s 2 s wd 8 7
Va) AR war wA R «B) ¥
(C) dl2r wawy (D) GuAsaidl 25 el dl
What are the uses of R.C.C. pipes ?
(A) water supplier and sewer (B) sewer
(C) water supply (D) . none of the above

3 queadl A W2 qeaqmi 3l 8 ?
(A) wust aqdl ®) 44 vadl
© RS wsd-udad » (D) CERTRCLUTR
Why is valve changed ?
(A) If become useless (B) If broken
(C) If not repairable (D) All of the above

& du Al Az wsumi s i Rrus s »ud & ?

(A) ‘“ded 24 ®) adl

(©) W2 (D) &3 24

In-which trap the water is discharged in the waste pipe of the wash basin ?
(A) - Bottle trap ) (B) Gully trap

(C) Master trap (D) Floor trap

s 3ol Q-2 190l st-uaat Aui 32a 251l AR Pl fuad-2 g AR ?
How many percentage of color pigment should be used to make cement

more colorful ?
(A) 2% : B) 5%
©) 20% (D) 10%
ON-27 B | Downloaded from vgnrw.marugujarat.in [ Contd...



6 L4l wdy s 3ol spepqanti »ud 8 ?

(A) siou (B)
L (C)  &adl ¥ wd D)
In which color is PV.C. pipe made ?
(A) Black (B)
(C) Light and Dark (D)
7 AR vard WS- Hag 8 -

Which is the point angle of centre punch ?

(A) 30°
v (C) 60°

(B)
D)

@ Ret-ll 2ie A2 e w2 § e 8 ?

(a) fa (B)
©) 24 D)
What is used to screw inside the job.?

(A) drill ®)
(C) tap D)

9 ausul igt v suqa-l GuA g s 8 ?

Use

Gua-iL oy o

White

All of the above

120°

EILE)
35

die

(A) &k ®) [Rix
(C) WA ‘(D) k=
What is the process called to groove inside the wood ?
(A) ' planing (B) drilling
(C) sawing (D) grooving

10 635 s el ARG 2-u 22el il ASA ?
What should be the compressive strength of first class brick ?
(A) 500 kg/cm? (B)
(©) 240 kg/mm? D)

ON-27 B |

400 kg/cm?
400 kg/mm?
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s

7 ¥ X » - .;’v
L 3 hq ,_"‘ =4
¥ i ) 4y "
G 1 (625)% + (169)2 - (144)}/2 =
(ozs)yz + (169)}4 +(|44)}4 B
(A) 25 (B) 12
(€) 50 i (D) 13
_'l;',‘ .E‘J“ .
i T
]
{ & i ‘ v 3
i QZJ At (63 7'): ) 2
e e o J
) ®
(A) 0.4789 < (B) 04837
(©) 05161 s (D). 0.6953
. 13 A adadl@m 14 0. B ARy all wy. Y
One circleE:d diameter is 14-cm; so what is a circumference of circle ? 3'-‘“ 2,
YT (A M ®) 32 . ‘;e.
c) 28 ) 18 F g
14 s2fe AABC UL AR oy A ud-l suy-u edvr sdquy.
5 In‘a right angle AABC ratio of opposite side and nearest side is called ?
Z
< (A)'sin @ (B) cos®
N (€) . cot *(D) tan®
s 21 @l Brruau ada-d WRBMG Al 3o,
21 em radius circle's perimeter is cm,
(A) 118 B) 127
(C) 132 (D) 146
Downloaded fronlwww.marugujarat.in I Contd...
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1610 B e ua ey yodl w2 4w g wd (G- 9 8 WA )
The substance which has 10 kg weight, what will be the weight of the

substance on the earth ? (G =98 mjsec’)

" (A) 98N

(B) 98N
(€) 10N

(D) 100N

17 udy (a)d AAsm Ad-u A4 8.

A R B) BMsens
O R (D) B{l/sens?
The Unit of Acceleration is

(A) m/s (B) km/h
(€) mvs? (D) knvh?

18 wiRMA 56 sumd w R UM L ?

“(A) wewl e (B) - Avd AN Aaxgn

(C) awud-u sl Wd (D) & A4l als yeu ]

Friction force does not depend on which the following ?
(A) Mass of substance

(B) Area of contact surface
(C) Nature of surface matenal

(D) none of them

19 9 Q@ ydlall g iat und 10 22 sl U Gy
GTTE T TUTRCTCN: 8
(A) Q8 (B) R-Ae
(C) w82 q& (D) Ve
If the distance between two pullys is more than 10 meters, then which belt
15 used for that 7
(A)- Q-belt
(C) Flat beh

e+

(B) R-bel
(D) V-beh

20 A, ABx diz-l daud s wdus- Aeia § B ?
Length and breadth ratio of A, drawing sheet s

e (A) 15 Ji B) ﬁ \
© a2 13 ™5
0"-37_. ] Downloaded from wwg.marugujarat_in
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21 il el 32 vy A avai =l 8 7

Inclined letters are written at an angle of the base line.
(A) 60° * (B) 30°
(€) 75° D) 120°

Qb AA-uniell 56 ARG Avid (@) 8 ?
Which of the following Pencils is hard ?
(A) B (B) 2B
(C) 6B (D) 2H

23 adaw-d Yy Rcid -
3(A) sumntidl oered suel sl (B)  ewertiell wuiefl el sndl
(C) ® (A) 1 (B) (D) ~Guaidl A5 dl
Main principle of surveying is -
(A) To measure from whole to:a part (B) Tomeasure from aart to a whole
(C) Both (A) and (B) (D) None of these

24 selgfe-ll Aaqd Yy -
What is hypotenasal allowance pattern formula a -

(A) I(sec®-1) B) /(cos0-1)

(C) " (sin 6-<1) (D) I(cosB+1)

285 dafugt @ g 88l R »wd & ?

\\

(A) Puambifa ddast (B) SARs dduw
(©) RuR2 adawm (D) Aetda aden
What is determined by Bench Marks ?

(A) Trigonometric levelling (B) Barometric levelling
(C) Spirit levelling (D) Profile levelling

Downloaded frt{n www.marugujarat.in
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l;@ WA - st W Ry B ?
(A) A sw-u uy-u
(B) <43 +isdu-y Wiu-i
(©) Aw w4 v~ Auveu-u y-y
D) GuAsanidl ais w2
Contour interval is proportional -
(A) Directly to the scale of Map
(B) Inversely to the scale of Map

¢ (C) Directly to the flatness of the ground
(D) None of these

27 agda 3 sNou-ll dsmm Bl QisA Mg 53 A A a2l Ry A9gA
qais 4 B ?

J(A) AsMRL quis (B) [ wdl quis

(C) 4R amis (D) M4 s

A curve of having varying radius introduced between two branches of a
compound curve is called -

(A) Transition curve

(B) - Mean average curve
(C) Base curve

(D) - Common curve

28 daa ANsew sue Neldl Gauduar Big wr ARar ddam s-u 2l uud aa-is

Yy 53D ?

The staff reading taken on a point of known elevation is known as -
TA) BS ®B) IS

(©) RL (D) FS

29 daami A usiR-l ARl dsdls Wl ui 8 ?

(A) 881UMS (B) -siAcs

(C) ¥R (D) waialulle

In levelling the error due to Refraction is -

(A) Positive (B) Negative

(C). Compensating (D) Progressive
30) qais w2 uuy »qdls 54 i d B ?

(A) &R wse (B) Asudz

() wwnadl wse (D) GuAsanil Ay y@y

The first observation taken on a turning point is -

(A) foresight (B) Back sight

(C) Intermediate sight (D) None of the above
ON-27 B 1 Downloaded from wwwq'narugujarat.in
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31 R guuid AR N 15°28' W @4, dl A yeign Al Aaunidl &4 ud ?
What is the whole circle bearing of a quadrant bearing N 15°28' W ?
(A) 195°28' (B) 164°32'
«(C) 344032 (D) 344°28'

@ DA w-uid] 8§ W eud wua 02 A B ?

(A) wd\d flr (B) 2¢4d R

(C) Asue-e (D) 2lkau

Which of the following instruments is used for measurement of angle ?
(A) Geodimeter (B) Tellurometer

(C) Sextant (D) Telescope

(33) yeli-l st uaheni 4 4l B. dl A 3o Fedn2 deel ?
For the first system of Pulleys with 4 Pulleys, velocity ratio is -

. (A) 8 ®) 16
3¢ o ©€) 4 (D) 32
T

9. 334 Q-2 PeGudlall 43 B, 2N d Avd ... sdi q4 AN B.
The cement becomes useless if its absorbed moisture exceeds -
(A) 1% ®) 2%
(€) 3% « (D) 5%

35 A& yta™ end Retun 4 8 7

e(A) 12 x qede] sE (B) 3 xded s
(C) 2.5xdesq 56 (D) 4 x4 se
Minimum end Return of weld is -

(A) 2 ~ size of weld (B) 3 x size of weld
(C) 2.5 = size of weld (D) 4 x size of weld

ON-27 B | Downloaded ﬁ'osn www.marugujarat.in [ Contd...



36 b4 e A2 el avy 3l AR RV B!

A) 1kau ®) 21 Ray
*(C) 14 Rax D) 28 R
In cold weather, curing of concrete should be continued for -
(A) 1 day @B) 21 days
(C) 14 days (D) 28 days

Raddl I=ldR (e) A (n) Baga Q) doin 4 B ?
The relation between void ratio () and porosity (n) is -

a) n-—= ® "=
e l1+e
© e=— ©) e=—
1+n n
38 Faupdsp Al A | B8
(A) $231 @U (B) 2Bla 2u+
0 (C) HRID Ran (D) %sud RU
A station having two. lines only-is called -
(A) Flag Station (B) Terminal Station
(C) Crossing Station (D) Junction Station

@ apiea A9 e@i$2 Qo 2 sl Yl e 8 7

(A) - 32 adu B) di adn
(C) a5 sy D) [Fas adu
The commonly used lime in white washing is...

(A) fat lime (B) lean lime

(C) hydraulic lime (D) quick lime

40 wRoey qur W2 wel-d J2q) wwl)l %3 B ?
The quantity of water required for domestic use is ...
(A) 100 Lped «B) 135 Lped
(C) 270 Lpcd (D) 50 Lped

Downloaded from www.marugujarat.in
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a1 oudlell b QAu oA G 538 7

(A) 2u-ud B) Wa

() dla D) aule.s. o
A horizontal structural member provided below the window opening 18

(A) Transam (B) Rail

(C) Sill (D) Threshold

-

“42 | fawui agay Gddl W2 YA -

/ P .- . . _
The formula for minimum eccentrncity n columns is

| D gL
A 5020 300 20
/ D ! D
G ok B - A
© 300" 30 ® 300 30
= -\\
43 )uun Q- 852 sRixn d¢y (F) ol 20l - €ldl ASA.
_/ Crushing strength of the first class brick should not be less than
(A) 3.5 N/mm? (B) 1 N/mm?
(C) 10.5 N/mm? (D) 14 N/mm?

44 A2d s e MY dd Rl Rl Bt 2og aviai »ud & 7
The cement.mortar mix generally used for masonry work is -
(A) «1:3 B) 1:5
(C) "I.:10 v(D) 1:6

(s NP A alsyl saes M2 A Guly iy @ 7

(A) ude dls (B) u&e (s

(€) A dls (D) ude adelyy
For timber painting commonly used -

(A) White lead (B) Zinc white
(C) Ved lead

Downloaded from vmwgm'ugrﬁﬁiﬁm white
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® wR-{l igd }A¥ i w2 22l s umani Wy 3 ?
~~ In house drainage the minimum gradient kept is -
(A) 1in40 * (B)

1 in 100

(©) 1in200 (D) 1in 400
47 2R & 55 UM YR N AN B ?

(A)  A2U A R (B) A2-u My w2
(C) uaws~l a3 + (D) Gudsa &y o
The gradient of sewers depend upon -
(A) sewer diameter (B) discharge of sewer
(C) velocity of flow (D) all of these

48 A2 difi+ll WU 3a usru el (Maud) W2 i ¥ asmani
2l B ?
(A) &5 Meud Nue (B). 8§54 “Yrid4 nUe
" (C) MM WA Yrdd ML XU (D) GYAsd As w4l
The sewer pipes have to be designed and checked for -
(A) Only maximum flow (B) Only minimum flow
(C) Both Maximum and Mimimum flow (D) None of the above

49 sl ge w2 wEl WA dellur 24l umani wd B ?
The ratio_of cost of labour to the total cost of the building is about -
(A) 1:10 ®) 1:1
()14 D) 1:2

80 M@ani PR 3+ ;ceu A Au dd3 oy 8 ?

(A) udldu- (B) Asu+
© Rad (D) ‘e
The arrangement of various rooms in the building is known as -
(A) elevation (B) section
(C) detail * (D) plan
ON-27_B | n
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TS ‘
7 s1) Ree AR 216w vawsa 2 Ad-uie] g GRai 2 B ?
(A) ARUY 25068 B) Muun suSs
(€ [Bran (D) Guudidl As ut S

Setting time of cement decreases by adding -
(A) sodium oxide (B) calcium chloride
(C) gypsum (D) none of above

52 ANy ¥l R sl s -

(A) w8, (B) ai 8.
(C) »am W B. D) i8S sdl usmy «dl
Strength of cement concrete with passage of time -
(A) decreases (B) increases
(C) remains constant (D) can't say anything

@ oA 2UDe QAL o} M1 Heu shear stress (gp,,).
(A) Auu-u 1.25 2=l (B) ~Ruu-u 150 =l
(C) uuu-u 1.75 el (D) AIUA-U-2.00 el
The maximum shear stress (g,,,,) in a beam of rectangular section is
given as -

— (A) 125 times the average (B) 1.50 times the average

(C) 1.75 times the average (D) 2.0 times the average

s¢  oflyni Geotaal Rsel aeuad »qA%a w2 APA 56 Ad ol ysami
W B 7
(A) e—> B e_r— -

« () SO\ 72 (D) Gl A5 w1 [

The. properly bent up and hooked bar for resisting diagonal tension in bean

' (A) "e—— B) -_r——
© e _/ ° (D) None of above

@ Aar 9d (2ds) w2 a-l deud A NUSH Meuy YRl J26) QY B ?
The maximum ratio of span to depth of a cantilever slab is -

*(A) 8 (B) 14
() 10 (D) 12
ON-27_B | 12 | Contd...
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56

aaql“nﬂi culde s Al A6FR dae-u ‘A cuad 2sfise o g
sdaqiy ?

In RCC retaining wall portion shown as ‘A’ is technically known as -

(A) Heel slab * (B) Toe slab
(C) Slab (D) Stem

¥ 1329 A 57, & woua @cnaa-ll du A wsami =d A 3 32
sday ?

(A) Bes A42 (B) waz fla Ay {32
(C) war fa- e 432 (D) &~ fa- {2
The rivets which are heated and then driven in the field are known as -
(A) field rivets (B) power driven shop rivets
. (C) power driven field rivets (D) hand driven. rivets
@ RiS sl 432 aou-y A 56 T v Gt =l 87

(A) Al w (B)- A3 vy
(C) 4R (D) vt 3wt
Irrigation canals are generally aligned ‘along
(A) straight line (B) _contour line
(C) nidge line (D) wvalley line

59 % 42 - (2w A @A 3s 3l Gl warR adl &y dl sy sinsm
sl il B 7
(A) dad $Rix J(B) W
(C) AAsass (D) Sd2 A 2G2d2
When canal and a drainage approach each other at the same level, the
structure so_provided is -
(A) A level crossing (B) A syphon
(C). An aqueduct (D) Inlet and outlet

(w 180 (ol seats-l Af M2 AWR s A Well W2 Y RN viaR

e @y ?
(A) 200 ™l @) 150 ™l
(€) 1004l (D) 120 |
Minimum stoping distance for moving vehicle on road with designed speed
of 80 km/hr is -
(A) 200 m B 10m
(€) 100 m D) 120 m

ON-27 B | 13 | Contd...
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Cxra,

s 61 % P(x):4x‘—3:z—6x+32, dl &-&Q&ﬁk___g-

> (A) Y B) 2
(%) (@ -2 ol
I P(‘):4I;—3x2—6x+32, then one of its root is '
T3, (A) zero (B) 2
~ O -2 i
‘3)_ -~

@) BBl yys sin(A4+8)=

As per trigonometry sin(A+B)= .
(A) sinB-cos A-cos B-sin A4 (B) cos A +cos B

(C) sind +sin B .(D) sinA-cos B +cos A-sin B
= ;3 N s2velly A4 w2 vl Bt @S At e Al Glaus "/ iy dl
- a-fl sua Ay axsa

If r, h and ! are the radius of base height of and slant height of a right
circular cone, then its total surface area is -

\ (A) xr’+mrl ®B) “xr’hl
1
€) =l D) ;xrzh

64 | B A Rigadl A #1A B @3 2% A4 R, R, A4 Ry AiaR Auad]l e
/@Y dl Big A 3 B a3l Ansu widAY ded) iy ?
11

R=—+—+—

(A) R=R+R+Ry (B) xR R

TR AL
©) x E*‘R‘;*‘?ﬂ; (D) Guanidl As w2 AR

If three resistances R, R, and R, are jointed in parallel between points A
and'B. what will be the equivalent resistance between point A and B,

¥ (D) None of above

: s At w2 a2 s s av Ay ?
C At what temperature “C is equal to “°F ?

(A) 40 (B) 40
) -12 D) 32
ON-27_B | 14 | Contd...
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66 W M4 13 S Dl »id s S M2 @dl d), si-d wdua A ded) 7

(A) 1 Dw{l/sens B) 25 DB{ljsaus
©) 60 Dysers (D) 100 Diefl/ses
A car covers a distance of 5 km is S min. its average speed is equal to -
(A) 1 knwhre (B) 25 km/r
Y (©) 60 knvhr (D) 100 km/hr

67 Rk Gl 3 Ak Gl s ws-l AWl B ?

(A) Rga Gl (B) Yuslu Gl

(C) Gwu Gl (D) uibis Qo
Potential energy and kinetic energy are type of -

(A) Electrical energy (B) Magnetic energy
(C) Thermal energy *(D) Mechanical energy

68 [Bin ad-u-l ueedl g vl usy ?

(A) &9 (B). UMM
+(C) Q¥+ (D) udx
Spring balance is used to measure -
(A) Mass (B) Time
(C) Weght (D) Acceleration

6 Aaumidl 6 Ua vg 1 SR W2 R B ?
Which of the following pencils is used to draw a soft line
(A)- 2B (B) 1B
(C) HB ) H

70 CAD amvia w2 Ad-unidl o6 siARa Wlen w3l B ?

(A) DOS (B) UNIX

(C) Linux L (D) Ourell aum

Which of the following operating systems is used with CAD system ?

(A) DOS (8) UNIX

(C) Linux (D) Al of the above
ON-27 B | 18 | Contd
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@ AA-yntidl 84 A 900 vl Ok W2 auuy B 7

(A) Rafsr (B) wl2%eR

() aMuwr (D) Guanidl s ua 8

Which tool from the following can be used to draw a 90° angle ?
Y (A)  Divider (B) Protactor

(C) Vemier (D) None of above

72 »uSANNRs ASaMi ada 3 twu B ?

(A)  AuseSs *(B) ddlw
(C) ada (D) Ysilel
A arcle will appear in an isometric drawing as -

(A) a cvyclod (B) an ellipse
(C) a arcle (D) a parabola

73 suavww-l 2. ARA o]l du B ?
The specific gravity of marble is -
(A) 250 (B)--2:60
() 266 o) 272

74 sivsdl B2 wulRed w32 €y B 7

(A) 1% &l - 8 Al -8 A (B) 20 & - 10 Al < 10 A

() 19aMl < aadl v 9adl (D) ™l&s-l Mn G »uilRa 8.

The standard-size 'of masonry brick is -

(A} 18 e 8 cm - B cm (B) 20cm < 10 em = 10 em
e(C). 19 cm ~%em - 9 cm (D)  Depends upon size of mould

’( 5 o uak wvaid Gad 32 el dy dl 130 ) Gladae Jean wali A4

w2 wie !
If hesght of the frst storey of & building 15 32 mt and niser of stair is 130
mun number of treads required s -

Ay 12 J(H) 24 rl_r
() 24 (D) 30 .
S

N

o

N-2T B 5 .
on-3 ! Downloaded #om www.marugujarat.in | Contd...
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76 | Qe izl o deer Wzl al Ride wig) AU st

2d 8 1
Expansion joints in masonry walls are provided if length exceeds -
(A) S0m (B) 40m

(@ 30m (D) 20m

77 adewii Yo Rugia e adem sedl otk -

(A) Alamaa spadl G die iy B,
(B) -t Sl 2 oyat e Wy B,
© Gamaa syl A s wy 8.
D) M2t Al A U3 s Y B,
The main principle of surveying is to work from -
(A) Lower level to higher level
(B) Pan of the whole
(C) Higher level to lower level

' (D) Whole to the part

N\
.7'," 1ot el -0 wunel 100 Ris ol disadl suinay, sanel 3R

Y -
. Correction per chain length of 100 links along a slope | ' n is -
2 (A) 100/n? B) 1/n?

(€) 100¢? (D) 100/n

79 eey yelluni Quudl wel wdw a3 J2al viuq vl Oy B 7
\ W The angle between two plane mirrors of an optical square is -
% o s UTA) 300 (B) 60°
¥ L (C) ase (D) 9%°

80 3y adaw dwid gewue A N 870 W Qu dl A yelgu Al Q).
The reduced bearing of a line is N 87° W Its whole circle bearing is -

C(A) e ®) &r
() (D) 93¢
ON-27.8 | Downloaded from wl\nzp\r.mamgujarat.in | Contd...



Ve Y .
‘_" \ R’ Blaiaion 21 '5' a8 5181 4yl AlEl qs-l douss

T simple circular curve having radius 'R’ and angle of deflation is 3" then

length of curve is -
(A) R tan §/2 . (B) 2Rsind/2
(©) Rsin§/2 ® =Rr&/180°

32 Qe P ¥ O, p v adtd &y d dd yReul s
The resultant of two forces P and ( acting at an angle 6 is -

*(A) P?+Q? +2PQcoso ®) p?+0?+2PQsind

© P?+Q? +2PQsin® @) P?*+Q%+2PQ tan®

83 'R Brernaon sy dqged-s au wudl Gell Brerudl Radi uvard

U dl 22al idd du B ?
The C.G of a hemisphere from its base measured along the vertical radius
is at a distance of -

(A) BR/3 v'(B) 4R[3xn
(C) 3R/8 (D) 3R/4x

8¢ Al verd-lax -

(A) A &y B, ., (B) »ilku du 8.

(C) ukudu\. D) Guntidfl A5 L -
The. velocity of a moving body is -

(A)_a constant quantity (B) a scalar quantity

(C) . a vector quantity (D) none of above

85 W A5 s ANUME 'y Fog waiar 52 )l A-) udx Bedl uin
If 's’ is the distance transversed by a particle within time %', its acceleration
is -
(A) st (B) s/t
(C) ds/dt *(D) dls/de?

ON-27.B | Downloaded b vAWW.marugujarat.in (Cang.,



86 o yRwely Yo 4 B ?
The dimensional formula of force is -
(A) MILIT! (B) MLT?
© ML2T (D) MLT

@ YL % 1 eouRl Wnal A4 Ad 5y A RN 2 B 7

(A) AR ®) Al
(©) dli{ler D) wdHsHlar
4-}* To measure very low pressure, which instrument is generally used-?
' (A) Mandmeter (B) Barometer
5 r‘_\ (C) Piezometer (D) Psychometer

@ ULl Q2 AL W2 quRtg Akt s el e 87

¢ (A qfallr (B) ldezys
©) A3Mlr (D) ~aMler
The instrument used for measuring the velocity of flow is known as -
(A) Ornficemeter (B) - Pitottube
(C) Venturimeter (D) Notchmeter

.@ 8-l BRsa Gl (h)d Y2t -
Critical depth (h) of a channel is -
(A) h=v/g B) h=v/2g
(C) h=vlig D) h=v/2g
T (v) Ml Al Yot -

Mauning's formula for velocity (v) is -

L 12 g0
(A) V—;'-" 5 ('B) v x r s
L ah 10
€ v=, By e
ON-27_B | 19 [ Contd...
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; s s az 09 MUA. WY Al ag
B A A2 @t Hend ¥dls 00157 4M5 |7 q

Iy MYl
(A) 1234 ®) 15 ‘:M
(C) 18 Al @) 203 ,
is 00157 cumec. and velocaty 09 my

For a sewer main. if a peak discharge

sec , calculate diameter of sewer mam -

(A) 12 cm B) 15cm
(C) 18 cm (D) 20 cm

92 UPU-Y AMAMI, oy A ndami well-l ATuA RN -
(A) 135 ufa G ula B @) 150 ult s ufa R
(C) 125 ula 25 ula R @) 105 bt @l ufa B
In Indian city, the average consumption of water under normal condition 15~
+(A) 135 per capita per day (B) 150 per capita per. day
(C) 125 per capita per day (D) 105 per capnta per day
ti‘ ot wielldi Ry - qeuy e 32g A4 B ?
" (A) 1025 B fRa2r (B) 1225 M. fazr

(C) 1425 B3 /R (D) 1625 Mau.faz

The maximum permissible hardness water means. a content of salts of -
(A) 1025 mg/h. (B) 1225 mg/ht

(C) 1425 mg/h (D) 1625 mg/ht

o4/ sdou welui Wen AR 2 sl e A-s Rrer- wval dedl @4 B ?

(A) 98% dl 99% (B) 88% 4l 89%
(C) 80% ol 85% (D) 85% ¥l 86%
Eﬂ‘iciencyofrﬂnovingbmeriaﬁummwwuerbyaslowsmdﬁhu,is.
(B) 88% to 8%%

(A) - 98% to.99%
(D) 85% to 86%

(C)_ 80% 10-85%

905 a2a-fl WSUML HAUA uAL M2 sHl UY FUNER 7
(A) siel DRSS B) sel adisuss

©) ¥ (D) Bian

The gas which may cause explosion in sewers, is -

(A) Carbone monoxide (B) Carbon dioxide
{C) Amonia (D) Methane
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(A) A=l 3 (B) e
() »4 (D) 3l
The soil which contains finest gran particles, is -
(A) Fine sand (B) Sih
(C) Clay (D) Sand

97 sAl wials wiw e doe) du B ?

(A) oodl 50 (B) s5°d| 200

(C) 2004 30° (D) 300d] 450
The angle of internal friction of clay. is usually -

(A) 0°to 5" (B) 5°10 20°

(C) 20°to 30° *(D) 30°to 45°

98 A o3 A wiw Ay, Al & ud-u uly ESUR] MM 4 Wiy ?

If ¢ is the angle of friction of the soil, then active earth pressure of a soil
is proportional to -

(A) lﬂn2(45°-¢) (B) siu(4s‘,¢)
(©) tan(45"+4) ©) tan?(45" +)

99 ‘(as2’ A+l Gl Y weude su 22 B wy B ?

(A) s(Ruel B) Wé~su

- (C) AR 2t D) sS+Au
Vicat's apparatus is-used to perform the test of -
(A) consistency (B) soundness
dC) - setting time (D) fineness

100, Q2R fud-e A, aru-d Ad welly ¥ e Ridl-enti J2e qy w2 w3l B

d M2 QU 9.
Water cement ratio is generally expressed in volume of water required per-
(A) 10kg “(B) 50kg
(C) 25kg D) 75 kg
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@ yedl-t gouei-ll lacut Garel sl Ahsad, Ad-umidl 52 m\ ) B ?
(A) 3Al%Raq, Wlla, A2 W ®) %lla, A2 ¥, a-.[kq

(C©) Wlla, AlRa, W2 W2 (D) =2 w2, Qa_{lq, alRa

The correct sequence of the given parameters in descending order of earth
pressure intensity is -

(A) Active, passive, at rest
(C) Passive, active, at rest

@ AlaL 2004 sl N, N, 31 N, S-u Ry (s5u-) 8 ?
(A) wal s 4 &ué It
B) Wddi A (Adx) W

(€©) *Wwd-l L w2
(D) WA HidRs wiw Aet (A~te i 214 [Bu-) 4R
The bearing capacity factors N, N, and N, are functions of -
(A) width and depth of footing
(B) cohesion of soil
(C) density of soil
(D) angle of internal friction of soil
?

@15) 03 »ule wdid A0 Dssa awidl R (ARAls uBA ARW) Nll 2y
2]

(B) Passive, at rest, acnve
(D) At rest, passive, active

A) sisdl (Raa) B) siv (Re2)

©) M @=) D) dl (s4)

Amongst the given soils, the specific surface area is highest for -
(A) Gravel (B) Silt

(C) Sand (D) Clay

104 Q2 @3 22 Y vie1y sal Gul 87
(A) §163u AR WA
v (B) 81Gu-idl AR R A ead-2 o
(C) 8163un+] d2ai-2
(D) &G6RUAA- Glus
Plate load test is useful to estimate -
(A) bearing capacity of foundation
(B) . both bearing capacity and settlement of foundation
(C) ' settlement of foundation
(D) - depth of foundation

105 A-unidfl &y Gusw A4 Ad Wy nawe W2 uuy 8 ?

A) Rdawyy 1(B) Rélulr

(©) adflax (D) *Ge {la

Which of the following devices is usually used in measuring pipe flow ?
(A) Pitot tube (B) Orifice meter

(C) Venturi meter (D) Mouth piece
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106 @SARS ] ydey w3yl yaed Gl adly sy B ?

(A) s Gyg B) f-aqiz Fusd
©) Rsd-2 Qg D) -la Gas
The depth of flow before and after the hydraulic jump together is known as-
(A) alternate depth : (B) . depth
(C) sequent depth D) norrml! g depth

107 PR R ey 43 Ad-unidl 56 aud RS uelt sovavi 8 ?
(A) R B) A w6l
(€ 5 @l M) welu vaua-d Rus
Type of surface irrigation method generally practiced in hilly area is -
(A) ﬂooding (B) furrow method
{C) contour framing (D) sprinkler irmigation

108 weli selli-l wia 2q -

(A) ANeuss selli

(B) Mny s+

(€) AwSs sl + Yuse selR+
«(D) Aeuss selR - e sl
Chlorine demand of water is equal to -
(A) applied chlorine

(B) residual chlorine

(C) applied chlorine + residual chlorne
(D) applied chlorine — residual chlorine

109 -0l s 30 @Gy Sy ol ?

(A) sl spilsuss B) A
(©) Ma- D) selAgedAsis{-
Which one of the following is not the greenhouse gas ?
(A) Carbon dioxide (B) Ozone
v (C)/ Methane (D) Chlorofluorocarbon

| 0 A-2sfl22 At A well 58 olfis Amadt U 02 Gudlai i 2ud
R N4

(A) v (20) (B) sl (s-s(32R4)
(© ssea (084 s(D) W (s_aa.) .
Tintometer is the instrument used to measure which physical quality of
water 7 N
(A) Odour (B) Conductivity
(C) Turbidity (D) Colour
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AR-unidl 56 AR WA 8 ?

(A) st B) soust
(©) ausA (D) Wl \
Which one of the following is the extensive property
(A) Volume () Preswn
(D) Density

(C) Temperature

Bz 3R A wanliza-d DS Audl asll usta ?
B) ‘@ A¥

D) ez A%
be checked by -

A) [a Ay
(C) ey Aw
The accuracy of vernier calipers and micrometer can

(A) Ring gauge (B) Plug gauge

(C) Slip gauge (D) Feeler gauge

QA-unidl As Big sA Wy av) -

(A) R sR (B) s &4y

©) wsR dla (D) e nallg sl gu

Identify single point cutting tool -

(A) Milling cutter

(B) Hacksaw blade

(C) Grinding wheel

(D) Cutting tool used in sloting machine

ay N2 d2dl nus-l We Gy eudl asy ?

(A) 3 Bl sl 20 @) 3 Bl ol 10 Bell. 2
() 10 B, ol 25 Bl 9 M) 25 Bell. ol quik

Lap joints are employed on plates having thickness -

(A) ‘Less then 3 mm y(@B) 3 mm to 10 mm

(C)-10'mm to 25 mm (D) Above 25 mm
& weld e dy d ustetl Ast-dl vuss A euldl usu.
(A) 58 Asu- (B) &1 Asu

(C) qu Asu (D) AR Ast-t

Objects that are symmetric can be shown effectively using  type of
section.

(A) Quarter section (B) Half section

(C) Full section (D) Symmetric section
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16 % AS vl Hlm agatuy
Al Rk sui O y ?

(A) e Bgd ad «13 by qe-) 6w
(B) ewt Rigl wisn w1 (ufay dell 6w
©) e Pigl wwa 3y Mfay aed -1
D) weey Bigd wd WA My el 02

If an object lies in a third quadrant, its position with respect o reference
plane will be -

(A) in front of VP, above HP
(B) behind of VPP, above HP
+(C) behind of V.P, below H.P
(D) in front of VP, below HP

@ wael R naue s sy e wy 3 ?
(A) MR OS2 w2 B) w4 3w w

(©) [l vu W

e Ay d ol aa Qs @)+ aani

D) v Big W
The projection lines converge in a perspective sketch at -
(A) the vanishing point (B) - the ground line
(C) the horizon line (D). the eye point

18 2uSAARs Pl aden 3q 2wl ?
(A) afa ®) siugh
(C) usw (D) wRaay
A circle will appear an isometric drawing as a/an -
(A) circle B) ellipse
(C) cycloid (D) parabola
i_:f‘l-i‘é‘l S W5 WP 2ifrrze Ral wad ?
(A) AuSARs Fat - B) uwd (=
(©) iR B D) RRAY tw A
Which type of sketch incorporates convergence ? ‘
(A) ' isometric (B) pers;.)ef:tlve
(C)y—oblique (D) multiview
120 dlo uats AA-umidl s Asumi wevami 3l 10 ?

(A) qdi2 (B) qAe
(€) gdo ®) AR
Electric current is measured in -
( A) watt {B) volt
(C) coulomb * (D) ampere
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121 wady AA-umidfl d-u 43 >uu w9 B ?

(A) [ga Rl (B) Rgaius
(C) uss-l dsus (D) fNa-u oy
The value of Resistance depends an -
(A) Volage (B) Current
(C) Length of conductor ,(D) ARl of the above
122 veid afadi €y cud vl (W) A Al qeusa ol Wy 8
(A) »udx «(B) Aammu
() uf (war) (D) w=m
The product of mass and velocity of a body in motion is known as -
(A) impulse (B) momentum
(C) power (D) force

(123 AAunidl g nAdue wandls (Reubaiafs) 8 ?
T (A) wdes ¥la (B) sR2 wiu-d
(C) «usf (D) ey[1uam
Which one of the following is an amsotropsc matenial

(A) Mild steel (B) Caw jron
(C) Wood (D). Aluminium

124 ved s Raua 2R Gl dlvaru e 9

o (A) tedl (2g7)
B) @utid s sl dustd (52 2-4)

(C) d-4dl

D) Rufausdl (Wla-y)
ﬁepropatybywlﬁchanamomtofmgyisnbsorbedbym«ialwithom
plastic deformation is called ?

(A) toughness (B) impact strength

(D) resilience

(C). ductility
@ﬂidmltﬂ syt ddue-) WS- P Afl awd Qu B ?
(A) WR (B) ausg
©) sk ®) ¥a
Which one of the following materials has the highest value of Poisson's
ratio?
(A) Rubber (B) Wood
(C) Concrete (D) Steel
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126 Q- 29e A3 Rugia DA-uniell 50 B 7

(A) Buielly @) g (Traversing)
© Ainw (D) Guuidl A 4l
The principle of plane table survey is -
(A) triangulation (B) traversing
L(C) parallelism (D) none of the above

127 A-tiedl s Pigad Rsardll ol 2w ANFLs il 53 8 ?

(A) A YAu- ®B) FA du
(©) Al A D) ¥ du
Agonic lines are the line joining points of -
(A) zero declination (B) zero dip
(C) equal declination (D) equal dip
128 Q-5 WR Aqeii »0dd @18 Qi adl} 3wy 8,
(A) &R aia- (B) Ssude qia-
(C) S-2iR¥e w2 ain- D) uNa qin
A staff reading taken on the bench mark is known as -
(A) FS reading »(B) BS reading
(C) IS reading (D) Reference reading

129 w LA, ¢ NS Pigni AsA @i Aaqal w2 s0smi st
Guas yYl Al AnqaL w3 8.

To get the precise location of a point using GPS, the signals are required
front minimum number of satellite.

(A) 3 ®) 4
(€).\5 D) 2

@s‘mu ooy w2 ALYl QoY WS USAR 54 B ?

(A) e adaR (B) WA AR

(€) Qzei ada D) &olad adaes

The most suitable type of vibrator to be used for column member is -
(A) needle vibrator (B) surface vibrator

(C) platform vibrator (D) formwork vibrator
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B2 ok 24 saus Wl pusdl A Rei AR

131 uan sa-l
wellq v 4 13 "=
ﬁrndmhﬂummwﬂmﬂdﬂf“:‘m‘ﬁﬂdmmb
water (by weight) more than -
(A) % ®) 10%
W (C) 15% (D) 20%
132 829 =il dsud-l B & oy sl A Beu gsua s 9
(A) %2 (B) [Ix sal»:
(C) 54 s8R (D) NAes s€l
The portion of brick obtained by cutting a brick lengthwise into Two parts
is called -
(A) bat (B) king closer
(D) bevelled closer

(C) queen closer

133 Red-edl 0 Bl (4ell) i a2 by se Wu B
(A) 003541 ¥l (B) 008 4 Ml

(C) 035 41 Ml D)y oS el

The volume of a cement packed in a gunny bag of 50 kg s -
*(A) 0035 m’ (B) 005 m

() 035m’ (D), 05 m

134 GulPrcl 4y yel sul sue A ae w4 ¥ 4 Rk Al (i,
g B Aade Masadl 12 Baa-t 5 9.

(A) uedy Bua B) dy Bud
© AQaun-2 Bud (D) a-du-2a [Bud
Thenetvalueoflhepmpeﬂyobtainedlﬂubehmdiswdeduthemdof
uﬁﬁtyperiodandsoldashwﬁhoutbdngbrokmiscdled-
« (A) salvage value (B) scrap value

(C) - replacement  value (D) sentimental value

135 5 93 s2di wde Wil ek WU suqadl adl 8

(A) @lze -l
®) wrwu uun (RsARA RWoA2)

() Maisdu- &3

5 9.

D) 3ea &
Thcamultwhichtbesdectedcomnctorlnsmdcpodtbefmcthemof
the work is called -
(A) eamnest money » (B) security deposit

(D) capital fund

(C) mobilization fund
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136 (b2se win w2 w4l ¥ uglnei-g PLg TP iy

(A) udl quid (B)  yadl wim
) 34 (D) aawl
Cntical path hes along the activities having total flogs -
(A) positive (B) negative
*(C) zero (D) same
(lsl, UM AL Al qa1 9
) (A) Ae2l4x -2 B) Wn Ay
(C) edu Q-2 D) a-ua (>fnd)
The grade of bitumen indicates its -
(A) softening poim (B) penetratian value
(C) flash point (D)  ductility
138 9 Ml. wdlus Yuad Wait-el B-udl a4y 9k Sladal amaa 15 adl
s A dl a-l P oy
T—_ (A) 1 %60 (B) "1 wi 30
' (C) 1 %i4as D) 1M1

lflhcdiﬂ'a‘mindevumofmdyofth:munuﬂ@mwﬂemdiu
130 crown is ISmlhecmﬂ:uofu-p-vm 5 -

(A) 1in 60 By 1T n 30
(C) 1in 45 M) 1m1s
(139 )ARiat usi-u eue w2 wuRda s (RPMBa ADuy-2) 3.

(A) 1%i30 (B) 1 w20
(© 1%i15 ' D) 1410
The limiting gradient for rolling type of terrain is -

(A) 1.in 30 B) 1in20
(C) 11in15 M) 1in10

140 35 Attt Al GUR i o1 Raudti sl Rl @y Aqn . b
Aetd oY £(R daR (Bl AR w2 Deew) 6y vidz-i 3oy gy
UM 2 B ?

(A) 4 ey (B) =1 asu

» (C) AR vy D) Gua-unidl AS yo «d]
lnthesinglelmeroadswhere!wo—w:ymovemunofhuﬁckpemined,ug
minimumstoppingsighldimnceshouldbe____ﬁmthestopping
distance

(A) tw-otimes (B) three times
(C) four times (D) None of the above
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10 sl A v el sl msn, Yud d- s s Wi 4 alus

WRme sl ag i &
An aggregate 15 sasd 10 be flaky of #s least dimenmon s less than

of ns mean dimenson
(A) 213 «.(B) 14

»2(C) 38 (D) w8

142 silh2mi SvUsmA 523 222 miq w2 sumi wud B 7

(A) svifda R-a niva (B) ala adws uiva

(C). e -4 Al (D) alimfA wiva

Compaction factor test 1s carmed out on concrete 1o find -

(A) Compressive strength (B) Settng time

(C) Tensile strength ' (D) Workabilny
@\ﬂé&-& Redvel Ay ARA wmt

Specific gravity of portland cement 13 sbout -

(A) 22 By 114

(€ 1s D) 268

144 %0 ot By Qs iy w3 wsuadl 43 adadiel el wuadl dy da
Birddls oluni Mls it w3 44l w2l AR W2l iz
LILR
A prismatic beam is. fixed at both ends and carries a uniformly distributed
Iom.mmﬁoofbu'xﬁngnmmanidmm!lnwis-

@'d' HRL MU Aousiy fauui, ude Fa 4 3 A w2, yBend “uy
fen-i yuPigdl Hi ysq WA,
Fornotensilemomuredinadmﬂrcohmofﬁmua'd,hmdm
force must fall within from the centre of the column
(A) d3 B) d/4
(C) dsg D) a6
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146 Y101l Dafleyds els wuaa -dRiaz dinmi weny 4R Nit-2 M B,

dl oln-u @ Bl 1/5 e vz w2 AR A2 ML % WA
T a.The maximum BM in the cantilever beam subjected to UDL is M The
BM at a section 1/5% of the span from free end is % ofM
(A) 4 B) 5
{€) 10 D) 20
147 1S 456 - 200040 . ANl s 2 AB2A 4yan As Al
UM S3G B.

Minimum grade of concrete recommended by IS - 456 2000 for RCC work
8 -
(A) MI0 (B) MiIS5

« (C) M20 (D) M25

148 2624, - 456 - 2000 g YAqai 2de A G > G

dellvia YR *ula 9.

(A) WA= sS2Rwu (B) Dedisy-t suR2Ray
(©) MR sifeRau M) V2 NS0
Span to depth ratio prescribed by IS - 456 2000 is based on -
(A) moment criteria ~ (B) ' deflection criteria
(C) shear criteria (D) /' rotation criteria

149 S[RuA 22u-sd Yot Sl AR Bra 1541 s w2 W3l Yidd 22
WA J2e1 Ama AEH ?

Minimum number of test specimens required to determine the compressive
strength of concrete as per IS standards are

(A) 3 ®) 5
© D) 9

150 >ellPus e MEAU ¢ w2 F ARIY UM »1d B A Yoy L4 -y
WS W2 umarii »ud & ?

A) W ds (B) aifq ds

©) [~ &l (D) »dsds dls

Bracings are provided in a pitched roof industrial steel building to primarily
resist which type of force ?

(A) Dead load B) Live load
(C) Wind load (D) Earthquake load
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